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Chapter 8 : Current and Resistance

1. If the resistance of the a circuit were tripled , then the current through the
circuit wouldbe:
\a. one-third as Iessj
b. three times as much
c. unchanged
d. none of those answers

2. If the equivalent resistance value of the circuit = 30Q. What will the value of
the unknown resistance:

, R L N
\9;_15_08 R 8 W X R =30 10 2 R=2 50
o100 T AR AM—AAN,
c. 50 R=30-10-5
&
d. 20Q R =10

VL. ¥
e ”i)i\'}i\?’/‘ If you wish to increase the amount of current in a resistor from 120 mA to

160 mA by changing the 24 V source, what should the new voltage setting

. v A v
oA6A ¥ oy 2V, g@;_%%,\d W = 2V i Vy=¢
v . e \G b. 24V Q B },i\ - 2N~ 200

T T2 ¢ 40V Ay ad

=32 velk  d. 10V 3 i =%, K e o s sl o8] = Fa sl

4. If atestinstrument detects a value which is higher than normal current, it
could means:

a. Resistance has decreases
b. Resistance has increased

c. voltage has increased
S T
d. a and_ds
5. The area of cross section of wire becomes half when its length is stretched to
double . How the resistance of wire is affected in new condition : ( assume

that R, is the resistance before stretching and R; is the resistance after
stretching )

{ o i o L \ L — 2L
\a. ,_Rzi4RI\ \{\ 4 A | A = A/>
b. R1= 4R2 . | " ‘ l )

C. R,=2R, W L ‘L:\. — \) I = ,L'

d. R1= 4R2 E’ '\



MW RGNS, V. e, BNAT.L3 WS WL eee et

combination of four conls of resistance 4.(2 8!2 12.(2 24.(2 feives )
_a. largest resistance = 4812 , smallest = 22 (2 b IN = 48 Al2 42U =
b. largest resistance = 1602 , smallest =1/202 (Paralel ]
c. largest resistance = 4.82 , smallest = 0.212
d. none of those answers

7. A wire of uniform thickness with a resistance of 27Q is cut into three equal
pieces and they are joined in parallel . Find the equivalent resistance for the‘

grimibarr el B @l , R=T1 R o= 5 RS
\ 2. 30| = gk T
.b 90 ., X, = = A ) ==
R “ 4 [ {
C. 180 (‘\_ ‘FQ ) (L
= = T ==
d. 270 > Ren

8. Compare circuit X and Y below. Each is powered by a 12V battery. The voltage
drop across the 12Q resistor in circuit Y is the voltage drop across the

smgle resistor in X.

\ a. smaller than X AN— AW}Y
b. larger than za e e
i —li
12V »v

c. the same as
d. No answer is correct

9. A 12-V ba ery , a 12Q resistor and a 4Q resistor are
connected as shown. The current in the 12Q resistor is oy | N

- f+1

that in the 4-ohm resistor.

T (\2) =1 Awp

a. 1/3
b. 1/2 T(yx) =5 A mQ
¢ 203 T(\vs) % T (ux)

d. the same as

10. Resistances of 2Q, 40, and 6Q and a 24V emf device are all in series. The

poten al di erence across the 2Q resistor is:

Ay QL -QRuNAR,

 b. 24V
c. 2V 24 6 =L
d. 12V i " _ 2% = 2 (.\WQ
A N
R

Sm lesy (R —— A A \4 % e



Chapter 8 : Current and Resistance

11. Four 20Q resistors are connected in parallel and the combination is

connected to a 20V emf device. The current in any one of the resistors is:
a. 1A As - L e X 2k 2L U ( 20 _
b. 4A R ey 20 co ce 2o 2o T Ne ru o
c. 20A C \/ 2 )
’ = N - #1&1\- L‘ {=
d‘ 40A \\’{ \k( ‘)‘

(\'z‘h el v Siskance. \) & Y ( Q‘O‘;LA) = L Anm P
12. A total resistance of 3Q is to be produced by combining an unknown resistor

R with a 12Q resistor. What is the value of R and how is it to be connected to

the 120 resistor? vl L3

\a. 40, paralleﬂ; it oD
b. 240, parallel Vi,
c. 4Q, series 2 R = 3R+ 36 ) | ‘,
d. 2.4Q, series R-IR = 36 = IR=36 = \Q = . B

13. A Nichrome wire is 1m long and 1 x 10° m? in cross-sectional area. When
connected to a potential di erence of 2V, a current of 4A exists in the wire.

The resistivity of this Nichrome is: Q _ N - 2 - .S
a. 5x107 Q'm . y
b. 4x107 Q'm P oo QA
c. 8x107Q'm L 7]
t ZX1O_7Q.m — 0.5 <\Xl({_6;> - 5 Lo -y
\
R
14. In the diagram R;> Ry> Rs. Rank the three M}\rm
resistors according to the current in them, least to
greatest. g R,
a. 1,2,3
b. 3,2,1 i AAA
c. 1,32 , R3

4. Allare the same)

, 150
15. Calculate the value of the resistance which must be connected to a

resistor to provide an equivalent resistance of 6Q

a. 150 15 Q- = b
(b, 100\ 5 R

c. 6Q ¢
4 300 5 R = cRa 90

ER-¢R = 7
L R=1l0 I
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16. If an electric charge of 900C flow through the filament of an electric bulb for
~“ i half an hour . What is the electric current will be in the filament?

\a. 0.5A] A T - A% o 6.5 [Amp
b. 0.05A N 3o Xb0O

c. 30A

d. 0.005A

17. 0.9V potential difference is applied across 1.5m length of tungsten wire that
has across sec onal of 0.6mm?2 . What is the current in the wire? (the
resistivity of tungsten is 5.6 x10-8 Q-m)

\*\

\a. 6.43A| 0\

b. 64.3A B = \//3 %\

c. 0.16A - &

d. 1.6A = B Exio (“5)7 oY L

:]j = N/q = i:\% = LR

o\

6.6 x10~¢

18. In particular cathode ray tube , the measured beam current is 30pA . How
many electrons strike the tube screen every 40s?

a. 0.75 x 1013 electron r Q= T Ak 3
/W » P
. b. 7.5x 1015 electrong - (go % IO 6) (Ue) = \.T K10 C

m?mctron N I5
d. 0.075 x 102 electron W = b Q =~ N-¢ X\O, : = 7 -5x10 electren
W& \.6 (D"
19. The equivalent resistance between terminals a L M-

and binthe gure below is 650Q. Calculate the
value of the resistor R. Q&r " \'3\\* QP

R J4oa

i - ] ,

L a. 400 65 = Yo <R, FR<b5M0)| |
b. 60 Q. =25 )‘\\10
c. 250 SENEE—— — [
d. 10Q. T TR ) b R

LA 3 -

5 -Rop

LS
<5 o
20. Resistance of a conductor depends upon
a. Nature of conductor
b. length of conductor \
c. Area of cross section of conductor

'd..All of the previous|




